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I Conclusion of discussion of n1w M2’y

a

Rn2: we don’t do n1w N2y due to RNV (in re: NoA 127p)
i Dissent: 'Y "1 —we may
ii ~ Support: story about n’prn adding a month in order to allow nva to be brought nnva (v. 1)
iii @™ post facto, if they intercalated due to nXmv — n7219n — his request for n193 was due to his late 112’y (on j071 'R)
1 Alternate version of v n193 because he caused 1 to bring »w noa
Analysis of xkn»9a:
i PN’ -seems to maintain 712x¥1 17NT NRMY (not NIMN)
1 Challenge: in re: the ¥, he disagreeswith w” and uses N mn NRNIV as a premise in his argument
2 Note: in any case, N " is difficult, as he rules 112yn, then cites the story with n'prm implying that it’s 9108
(a) Rather: Raomn »on — p’n allows Tay*1a MY and N 1 invalidates it — and uses v. 1 for support
(i) Challenge: v"=p"n
(ii) Answer: v™ allows nkmYN 290 NY even ab initio, p"n only allows TaY>72 (supporting ®n»11)
i pynw 1 “late May”
1  Question: wasn’t n’p1n aware of the limitation of v. 2?
2 Answer: he originally rejected the argument of 581w — 30t of 97R is too late, as it could be made o7
iii Alternate version (017’ 12 PYnw ") of w™: he (unnecessarily) caused »"11 to bring 71w noa
1 Explanation: case —a bit more than %2 of the men were 171V, the rest Xnv and more women were mmnv
(a) He thought: women are YWR1 NP1 M1’ N > majority of 0’2’ n are MY = minority go to 1w noa
(b) He realized: women are 7”an M09 = majority were n'x&nv - all do nrnva PWRY No
Revisiting 58w®'s “cap” on maw 1122w (778 0I):
i What if: they nonetheless declared 12p?
1 Answer (851v): no wnn W17 announced — announced the next month for 07
ii ~ What if: a different 772 was wTpn the month?
1 Answerl (§27): this cancels the 112>y (and the month is jo7)
2 Answer2 (17): it’'s both 127wm v1pn
(a) Challenge (827): all count 30 days from o m9; if we announce noa in 6 weeks, they’ll degrade ynn mor
(i) Answer: all know that it depends on calculations and they’ll figure that 1337 didn’t calculate “til now

II  Considerations of the equinox (n91pn) as it affects mwn Ny

a

9R1Y: only intercalate if a majority of »ywn is still in summer (before autumnal equinox)
i Meaning: 16 days (nmn> ") - or 21 days ("ov ")
1 Note: both apply v. 3 — either all of the 9>ox time of an (n”nn) must be in fall, or some (*ov ")
2 Note: they must agree that the equinox is part of the next season (else both applications fail)
(a) Challenge: x> —>"n " disagee about this — N7’ 1 equinox ends previous season
(b) &m7732 p'n - 16 days; nmiv 1 — 20 days; 'ov "1 — 16 days (spring, not fall); v" — even fall; o»InR — 14 days
(i) Analysis: nmn "1=r0v " (answer: disagree about status of day of equinox)
(ii) Analysis: "o "1 > >16 before i, we do 12Y; yet if only at 16 before noa we do —not 17/18 at an
1. Answer: even 17/18 before an, we don’t — 16::16 is parallel construction
(iii) Analysis: p"n=w"; (answer: they disagree about status of n9pnn oy, unclear who says what)
(iv) Analysis: onR — if they hold that the equinox ends the season and we need entire »n — could be 15
1. Answer1: pnx’ 92 YRV "7 — referent is spring (not fall) — as per v. 4
2. Answer2: 2py’ 72 RNR 1 — DINR are counting invertedly — if there are 14 days left ("> 12)
3. Answer3: Rya7 — they require entire an, including first day and interpret v. 3
as an that comes during qox
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